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1. WRA-YRI® & T4 T6 | Giel 1 6 M el
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1. TRANE:
(A) BRRI
(B) NI
(C) 9aiEr
(D) SWF &l
2. TN G THGIA e e & ?
(A) 40-42 fed
(B) 30-32 fa7
(C) 20-22 f&A
(D) 60-62 a7

3. VR 999 I 991 $gl 9l € °
(A) b
B)
(C) s
©)

4, ITG G 99 B T HEl A © ?
(A) BT
(B) SHfchT
(©) wiefef
(D) Row

AGE-66

(3)

Rabbit is :

(A) Herbivorous
(B) Carnivorous
(C) Omnivorous

(D) All of the above

How long is the gestation period of rabbit ?
(A) 40-42 days
(B) 30-32 days
(C) 20-22 days

(D) 60-62 days

What is the male duck called ?
(A) Buck

(B) Ducks

(C) Drakes

(D) Doe

What is baby duck called ?
(A) Buckling
(B) Duckling
(C) Goatling

(D) Skiff

Set-A



IR & AN DI DI Fid febdr. fobett Bl
g7

(A) 400 3T
(B) 500 ¥
(C) 700 T
(D) 300 T

A R A A b Rerd ©

(A) fRaR, sRamm 4

(B) SWd, gavrErs H

(C) SRAMMI, ARTeive |

(D) IR, R H

ERECIRRIR IS | B A C I O
g ?

(A) 4-5 AIE H

(B) 5-6 AlE H

(C) 6-7 #IE #

(D) 7-8 AIE #

AGE-66

(4)

How much is the price of quail meat

per kg ?

(A) 400

(B) %500

(C) %700

(D) %300

National Research Centre on Meat is

located in :

(A) Hisar, Haryana

(B) Uppal, Hyderabad

(C) Jharnapani, Nagaland

(D) Bikaner, Rajasthan

When do ducks start laying eggs at

about ?

(A) 4-5months

(B) 5-6 months

(C) 6-7 months

(D) 7-8 months

Set-A



8. dd9 & AN H =¥ BdT © 8.  Duck meatisrichin:

(A) ferd T (A) More protein

(B) 3 faer™d (B) More vitamin

(©) HART AR W (C) Calories and protein

(D) DA 3fR T (D) Calories and Fat

0. fdvg 7oy feqw HAMdT W T 2 9.  The World Fisheries Day is celebrated
on :

(A) 21 TR B (A) 21st November

(B) 21 feFwR &1 (B) 21st December

(C) 21 JIRR & (C) 21st October

(D) 21 THRAR) Pl (D) 21st February

10. 9Rd ¥ 99l Pl YAl br SfDhaH 10.  The maximum production of fish species

I - in India :

(A) g (A) Rohu
(B) HTefl (B) Mrigala
(C) el (C) Catla
(D) ol (D) Lanchi

11. TR B S hedl § 11.  What is Rabbit wool called ?

(A) WX (A) Fur

(B) UcHadl (B) Alpaca
(C) AR (C) Mohair
(D) fafsfq (D) Virgin

AGE-66 (5) Set-A



12.

13.

14.

15.

G B @Il B T Bed § 7
(A) e
(B) WIgH
(C) Ucc

(D) ™

forforRad & 9 PI9-91 75el SUIdTe § ?

(A) TSl BT dd
(B) WOl @l WS
(C) ol 1 7
(D) SudE W

AL A ARG FRH R Rerd 2

(A) g H

(B) T A

(C) el H

(OMECELR

fort <o # woell @) @ud Aew e © ?
(A) 3T yedT

(B) weUgIu

(C) T

(D) URTH §TIe
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(6)

12.

13.

14.

15.

What is Rabbit skin called ?
(A) Fine

(B) Feathers

(C) Pelt

(D) Fur

Which of the following is a fish by-

product ?

(A) Fish oil

(B) Fish manure
(C) Fishglue

(D) All of the above

National Fish Genetic Resources Bureau

is located at :

(A) Bengaluru
(B) Mumbai
(C) Allahabad

(D) Trivandrum

Which state has highest fish consumption ?
(A) Andhra Pradesh

(B) Lakshyadweep

(C) Goa

(D) West Bengal

Set-A



16. IR U fAfhedr SrEe W @l 16. Indian Veterinary Research Institute

RO e af @) T o ? (IVRI) was established in the which year ?
(A) 1889 (A) 1889
(B) 1879 (B) 1879
(C) 1865 (C) 1865
(D) 1898 (D) 1898
17. 9X 1 FEIT 7@l fba-r gy g ? 17.  What is the incubation period of quail ?
(A) 17-18 fed (A) 17-18 days
(B) 18-19 &= (B) 18-19 days
() 5fea (C) 5days
(D) 7 fad (D) 7 days
18. UH I ¥ U dcx fha s <ol & ? 18.  How many eggs does one quail lay in one
year ?
(A) 260-270 (A) 260-270
(B) 270-280 (B) 270-280
(C) 280-290 (C) 280-290
(D) 290-300 (D) 290-300
19. 991 ¥ gaelidl auidh & 19. Fat soluble pigment is :
(A) Sieffthet (A) Xanthophyll
(B) @RICH (B) Carotene
(C) IR Ul (C) Chlorophyll
(D) Sugad FI (D) All of the above

AGE-66 (7) Set-A



20. UP UM 997 I Sofl T Bl 2 20. One gm of fat provides energy :

(A) 41 DAN (A) 4.1cal
(B) 6.1 DN (B) 6.1cal.
(C) 94 DHaNI (C) 9.4cal.
(D) 75 DA (D) 75cal.

21. GIoId WAREVT FIA, 1972 & & fhdddh 21. The hunting of which was banned under

R N N — the Wildlife Protection Act, 1972 2
(A) T0E (A) Duck
(B) TR (B) Rabbit
(C) X (C) Quail
(D) el (D) Fish
22. 9R B 9 Bl T FEd © 7 22.  What is a quail’s baby called ?
(A) foaw (A) Chicks
B) foe (B) Kid
(C) IR T I= (C) Quail’s children
(D) Suga H A Bl el (D) None of the above
23. FX B IRR BT qui fdbaT BT 8 7 23.  How much is a quail’s body weight ?
(A) 70-80 T (A) 70-80 gm
(B) 70-100 U™ (B) 70-100 gm
(C) 70-120 T (C) 70-120 gm
(D) 70-140 I (D) 70-140 gm

AGE-66 (8) Set-A



24. WIS 9} U R H b+ 3s ol & 7

(A) 68
(B) 8-10
(C) 10-12
(D) 12-14

25. #ool # five @1 daH T wEd IS

gal -
A) g w
(B) USRI

(C) UH ¥

q

D) ZTETH

26. fHfIRIT § & o9- Tl 9ol € ?

(A) ST e
(B) cd fohar
(C) ¥R b
(D) Sleit foar

27. WOl & A H

(A) 40-45
(B) 15-25
(C) 13-20

(D) 25-45

AGE-66

% T BT 2 |

(9)

24,

25.

26.

27.

How many eggs does a female quail lay

atatime?
(A) 6-8
(B) 8-10
(C) 10-12
(D) 12-14

Cage culture (Fish) started first

from :

(A) Egypt
(B) Indonesia
(C) Japan

(D) USA.

Which one is true fish in the following ?
(A) Dog fish

(B) Cattle fish

(C) Star fish

(D) Jelly fish

Fish meat contains ............... % of protein.

(A) 40-45
(B) 15-25
(C) 13-20

(D) 25-45

Set-A



28. ffciEd 4 9 ®F-91 o § gomediad 28,

faeTie g ?

(A) faer g
(B) fder™= <t
(C) fder= S
(D) faerf

29. T e yomferdl & forv M-t oM 29,

wBferal @l AT W §

(A) I AR T

(B) WIS 3R Hawd

(C) HoolcH, Hedl 3R uel wicH
(D) e, W, FAE, DA P

30. V&I A fder 96 Red 30.

(A) TREE H
(B) T H
€ T A
(D) @

AGE-66 (10)

Which of the following is a water soluble

vitamin ?

(A) Vitamin A

(B) VitaminC

(C) VitaminD

(D) Vitamin E

What are the common fishes selected for

pond culture systems ?

(A) Sharks and rays

(B) Sardines and Mackerels

(C) Mullets, bhetki and pearl spots

(D) Catlas, rohu, mrigalas, common

carps

National Fisheries Development Board is

located in :

(A) Hyderabad

(B) Goa

(C) Mumbai

(D) Chennai

Set-A



31.

32.

33.

AGE-66

e} el BT A AW R/ E ?
(A) R Wl

(B) oS!

(C) PIcHe Bl

(D) WIS

g W e A RYs dar T o
ATITIGAT Tal Bl © 7

@

(B) WM

(C) <T@

(D) X

A & ST W UTe dlel TR Bl il
e © ?

(A) 3T XM

(B) STIR TR

(C) TS TR

(D) ST W

(11)

31.

32.

33.

What is the scientific name of quail bird ?

(A) Numerous species

(B) Anatidae

(C) Coturnix coturnix

(D) Phasianidae

Which of the following does not require

vaccination ?

(A) Chicken

(B) Rabbit

(C) Turkey

(D) Quail

What is Rabbit reared for meat purposes

called ?

(A) Laying Rabbit

(B) Broilers Rabbit

(C) Growing Rabbit

(D) All of the above

Set-A



34, W& WY Uh gR § fhdd = <l 34. How many babies does a female rabbit

39 give at a time ?

(A) 12 (A) 1-2

(B) 2-3 (B) 2-3

(C) 56 (C) 56

(D) 6-7 (D) 6-7

35. U U%, U IRIFI9 fhg Em‘aﬂlgsﬂ? 35. In which year was the P. F. A. Act

implemented ?

(A) 29 RIa=R, 1954 (A) 29th September, 1954

(B) 29 3TATR, 1964 (B) 29th October, 1964

(C) 29 Rya=R, 1944 (C) 29th September, 1944

(D) 29 3TATR, 1934 (D) 29th October, 1934

36. fbd U H WGl BT |l Sared 36. Which state is highest producer of

Far g ? fish ?
(A) NIoTRITT (A) Rajasthan
(B) TSI (B) Gujarat
(C) W (C) Punjab
(D) 3 ey (D) Andhra Pradesh
37. SRIE Tale & g+ fhad g ? 37. Operation Flood is related to :
(A) dI6 AT (A) Flood control
(B) H IdIad (B) Fish production
(C) WY ScdTed (C) Meat production
(D) T IHIeT (D) Milk production

AGE-66 (12) Set-A



38.

39.

40.

41.

AGE-66

A # qe Hgaqul geh 7 § ?

(A) @9

(B) UEH

(C) FmTeTERCH

(D) faerfd

gl @ fafbea e & o B
& 1 srawadar gril g ?

(A) dI. 79, UH. U9,

(B) 9. Y W
() 9. 4 ud.

(D) TUA. 4 1. T4
fferRad & & aF-91 TReRIfe® € ?
(A) SIRiNEded
(B) R
(C) TfFIATERI
(D) SHIE W

HERIRAT BT FId Thol IS ¢

(A) 3=
(B) Rivrer
(C) W

(D) T

(13)

38.

30.

40.

41.

What is most important component in

meat ?

(A) Fat

(B) Protein

(C) Carbohydrates

(D) Vitamin

What degree is required for bird

therapy ?

(A) B.HM.S.
(B) B.U.M.S.
(C) B.V.S.C.

(D) M.B.BS.

Which of the following is an antibiotics ?
(A) Doxycycline

(B) Ciprofloxacin

(C) Azithromycin

(D) All of the above

Most successful example of co-operative
is:

(A) Anand

(B) Syngenta

(C) Proagro

(D) Raksha

Set-A



42. fdvg § Qg9 d1 A SACH DA 42.  Who is the largest meat producer in the

39 world ?

(A) Sirefora (A) Australia

(B) 3T (B) Argentina

(C) M (C) China

(D) Y& T ARG (D) United States of America

43. fa=foRag & @ d9-91 Th Wjﬁ Dol 43. Which of the following is a marine

397 fish ?
(A) g (A) Rohu
(B) el (B) Catla
(C) fewm (C) Hilsa
(D) B FIY (D) Common carp
44, 9RA B TL 7B 2 44.  The National Fish of India is :
(A) IRGIR DIATRAT (A) Rastrelliger kauagurta
(B) ifSa fear (B) Labeo rohita
(C) e defell (C) Catla catla
(D) FARTH T (D) Clarias batrachus
45, fr=foRad & & -1 7ol oM & wal  45. Which of the following fishes is used for
§ o) wre B Rre g & el $ 7 fish culture in paddy fields ?
(A) DI Hfell (A) Catlaonly
(B) ®dd g, (B) Rohu only
(C) ad T U el (C) Mrigala and Catla only
(D) Sugad FI (D) All of the above

AGE-66 (14) Set-A



46.

47.

48.

fyefoRag & 4 dH-91 TS FASAY

TGl BT Y IS © 7
(A) 3T T

(B) feER

(C) XA

(D) URTH §Ta

TG BT SaTdTel o gir § ?
(A) 8 TY
(B) 10 ¥
(C) 12 d%

(D) 4 T

a9 ©

(A) RN
(B) NI
(C) @Rl

(D) ST W

AGE-66

(15)

46.

47.

48.

Which one of the following states is the

leading producer of inland fish ?

(A) Andhra Pradesh

(B) Bihar

(C) Kerala

(D) West Bengal

How long is the life of duck ?

(A) 8years

(B) 10 years

(C) 12 years

(D) 4 years

Duck is :

(A) Herbivorous

(B) Carnivorous

(C) Omnivorous

(D) All of the above

Set-A



49. TTHSG HI XTI gs‘ off : 49. AGMARK was established in :

(A) 1935% (A) 1935

(B) 1937%H (B) 1937

(C) 1954% (C) 1954

(D) SWE ¥ | FIg el (D) None of the above

50. WRICH U YA @ : 50. Carotene is a precursor of :

(A) faerf®g v @ (A) Vitamin A

(B) fdeIfd I, & (B) Vitamin B;

(C) faeIfa= <t @ (C) VitaminC

(D) fIefm 3 & (D) Vitamin E

51. HOell @ Yo & folU XISl fbar W 51. The term wused for breeding of

arell vl fish :

(A) fadider (A) Viticulture
(B) THideeR (B) Agriculture
(C) ErfdeR (C) Horticulture
(D) UfideR (D) Pisciculture

AGE-66 (16) Set-A



52. el pife FrafeiRad & wwafd @

(A) e~ IdIe
OEEACKISERIES
(C) T SaEd

(D) W e

53.  gcX I SiadIal fhaeT Bl & 2
(A) 1TY
(B) 2 a¥
(C) 4 ¥

(D) 8 Y

54, ¥R & T Poe H fha wl g

g7

(A) 10
(B) 20
(C) 30

(D) 40

AGE-66

(17)

52.

53.

54.

‘Blue Revolution’ is related with the

following :

(A) Foodgrain production

(B) Oil and seed production

(C) Fish production

(D) Milk production

How long is the life span of quails ?

(A) 1year

(B) 2years

(C) 4years

(D) 8years

How many birds are there in a flock of

quails ?

(A) 10
(B) 20
(C) 30

(D) 40

Set-A



55. 9c¥ & AN H fhaa! aifdrear gl @ 2 55.  What is more in quail meat ?

(A) fIeIfi| aiR amRA (A) Vitamins and iron
(B) faeIfem aik o= (B) Vitamins and fat
(C) T 3R T (C) Fatand minerals
(D) T 3R ARRA (D) Fatand iron

56. d<ig Ul 3{-\1{{&“4 I $af ) Rg 56. Where is the Central Avian Research

$9? Institute located ?

(A) T (BRam) (A) Karnal (Haryana)
(B) souid TR (Refl) (B) Izzat Nagar (Bareilly)
(C) IR (S| ) (C) Jhansi (Uttar Pradesh)
(D) =< (ToRTd) (D) Anand (Gujarat)

57. U 9 P 70 b CIH § daf 9§ WRaG 57.  Where was the Japanese quail brought to

India in the 70s ?

ST T o ?

(A) U (A) Japan

(B) mRa (B) America
(C) »¥ (C) Russia
(D) scefl (D) Italy

AGE-66 (18) Set-A



58.

59.

60.

AGE-66

qcx Uiel H Yo TG b R B A1
feper=t w1 R Ay ?

(A) 6

(B) 5

€ 4

(D) 3
I U AN 1 B < R
e ?

(A) HIfH

(B) sIfdd

(C) HrfefT

(D) TfofT

UTEH & -
(A) PHEERST
(B) fuifte
(C) U

(D) JAFHED qart

(19)

58.

59.

60.

How many females should be kept
with one male for breeding in quail
birds ?
(A) 6
(B) 5
€ 4

(D) 3

The word ‘Hormone’ was coined

by :

(A) Martin

(B) Darwin

(C) Marling

(D) Stirling

Enzymes are :

(A) Carbohydrate

(B) Lipids

(C) Protein

(D) Inorganic compound

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

TeT-gRA®T H UA® WA & IR GRIad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A <781 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Heger

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H I BT S BRI & = 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o
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E
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